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Mesure des masses 

 

Peux-tu aider ton ami Gus à convertir les masses suivantes en 

kilogrammes ? 

 

 3600g = ……………………………………… 

 12000g = ……………………………………… 

 4560g = ……………………………………… 

 8520g = ……………………………………… 

 1440g = ……………………………………… 

 7200g = ………………………………………  

 3720g = ……………………………………… 

 120000g = ……………………………………… 
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CORRECTION 

 

Mesure des masses 

 

 3600g = 3kg 600g 

 12000g = 12 kg 

 4560g = 4kg 560g 

 8520g = 8kg 520g 

 1440g = 1kg 440g 

 7200g= 7kg 200g  

 3720g = 3kg 720g 

 120000g = 120kg 

 

 


